
POLINOMIOS: raíces 
reales y complejas

ÁLGEBRA cbc (INGENIERÍA)

EFRAÍN CAMACHO



ejercicio

𝒙 =
−𝒃 ± 𝒃𝟐 − 𝟒𝒂𝒄

𝟐𝒂
→ 𝒙 =

−(𝟏 − 𝒊) ± (𝟏 − 𝒊)𝟐−𝟒(𝟏)(𝟐 − 𝟐𝒊)

𝟐(𝟏)
→

𝒙 =
−𝟏 + 𝒊 ± 𝟏 − 𝒊 − 𝒊 + 𝒊𝟐 − 𝟖 + 𝟖𝒊

𝟐
→ 𝒙 =

−𝟏 + 𝒊 ± −𝟖 + 𝟔𝒊

𝟐

(−𝟖)𝟐+(𝟔)𝟐= 𝟔𝟒 + 𝟑𝟔 = 𝟏𝟎𝟎 = 𝟏𝟎

𝒄𝒐𝒔 𝒂𝒓𝒈 𝒘 =
𝒂

|𝒘|
→ 𝒄𝒐𝒔 𝒂𝒓𝒈 𝒘 =

−𝟖

𝟏𝟎
= −

𝟒

𝟓

𝒔𝒆𝒏 𝒂𝒓𝒈 𝒘 =
𝒃

|𝒘|
→ 𝒔𝒆𝒏 𝒂𝒓𝒈 𝒘 =

𝟔

𝟏𝟎
=
𝟑

𝟓



ejercicio

𝟏𝟎

𝒄𝒐𝒔 𝒂𝒓𝒈 𝒘 =
𝒂

|𝒘|
→ 𝒄𝒐𝒔 𝒂𝒓𝒈 𝒘 =

−𝟖

𝟏𝟎
= −

𝟒

𝟓

𝒔𝒆𝒏 𝒂𝒓𝒈 𝒘 =
𝒃

|𝒘|
→ 𝒔𝒆𝒏 𝒂𝒓𝒈 𝒘 =

𝟔

𝟏𝟎
=
𝟑

𝟓







ejercicio

𝟏𝟎

𝒛 = |𝒘|
𝟏
𝒏 𝒄𝒐𝒔

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏
+ 𝒊𝒔𝒆𝒏

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏

𝒛𝟎 = 𝟏𝟎
𝟏
𝟐 𝒄𝒐𝒔

𝟐, 𝟒𝟗𝟖 + 𝟐(𝟎)𝝅

𝟐
+ 𝒊𝒔𝒆𝒏

𝟐, 𝟒𝟗𝟖 + 𝟐(𝟎)𝝅

𝟐
→

𝒛𝟎 = 𝟏𝟎 𝒄𝒐𝒔
𝟐, 𝟒𝟗𝟖

𝟐
+ 𝒊𝒔𝒆𝒏

𝟐, 𝟒𝟗𝟖

𝟐
→

𝒛𝟎 = 𝟏𝟎 𝒄𝒐𝒔 𝟏, 𝟐𝟒𝟗 + 𝒊𝒔𝒆𝒏 𝟏, 𝟐𝟒𝟗



ejercicio

𝟏𝟎

𝒛 = |𝒘|
𝟏
𝒏 𝒄𝒐𝒔

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏
+ 𝒊𝒔𝒆𝒏

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏

𝒛𝟏 = 𝟏𝟎
𝟏
𝟐 𝒄𝒐𝒔

𝟐, 𝟒𝟗𝟖 + 𝟐(𝟏)𝝅

𝟐
+ 𝒊𝒔𝒆𝒏

𝟐, 𝟒𝟗𝟖 + 𝟐(𝟏)𝝅

𝟐
→

𝒛𝟏 = 𝟏𝟎 𝒄𝒐𝒔
𝟖, 𝟕𝟖𝟏

𝟐
+ 𝒊𝒔𝒆𝒏

𝟖, 𝟕𝟖𝟏

𝟐
→

𝒛𝟏 = 𝟏𝟎 𝒄𝒐𝒔 𝟒, 𝟑𝟗𝟎𝟓 + 𝒊𝒔𝒆𝒏 𝟒, 𝟑𝟗𝟎𝟓



ejercicio

𝒙 =
−𝟏 + 𝒊 ± (𝟏 + 𝟑𝒊)

𝟐
→

𝒙𝟏 =
𝟒𝒊

𝟐
= 𝟐𝒊

𝒙𝟐 =
−𝟐 − 𝟐𝒊

𝟐
= −𝟏 − 𝒊

𝒙 =
−𝟏 + 𝒊 ± (−𝟏 − 𝟑𝒊)

𝟐
→

𝒙𝟏 =
−𝟐−𝟐𝒊

𝟐
= −𝟏 − 𝒊

𝒙𝟐 =
𝟒𝒊

𝟐
= 𝟐𝒊



Gracias por tu atención


